

Ikons forglu

$y'' - 2y' + y = x e^x \rightarrow$ Homogen. allg. Solution L.DS

$y = (c_1 + c_2 x) e^x$

$(c_2(x) = ?)$

Ans. Wert $y = c_1(x) e^x + c_2(x) x e^x$ ansagen.

$$\frac{-1}{c_1' e^x} + \frac{c_1' x e^x}{e^{2x}} = 0$$

$$+ \frac{c_1' x}{e^x} + c_2' (1 + x) e^x = x e^x$$

$c_1' e^x = x e^x$

$c_1' = x \Rightarrow c_1 = \frac{x^2}{2} + c$

(#)
$$x y'' = x y' + 4 y'' \Rightarrow (y' = ?) p = ?$$

gpr. Lösung

$$\frac{y' = 0}{x p' = x p^2 + 4 p}$$

$$(x-4) p' = x p^2$$

Euler
Differentialgleichung

linear D.D.

$$A x^2 y'' + B x y' + C y = f(x)$$

L.D.S

Hom. = Ikons forglu

y_1, y_2 linear unabhängig

Ansatz D.D.
 $y = c_1 y_1 + c_2 y_2$

$$\int \frac{dp}{p^2} = \int \frac{x^{-4+1}}{x^{-4}} dx$$

$$-\frac{1}{p} = \int \left(1 + \frac{4}{x^4}\right) dx$$

$$-\frac{1}{p} = x + 4 \ln|x-4| + C$$

$$y' = p = \frac{-1}{x+4 \ln|x-4|+C}$$

$$\# \quad y'' - 3xy' = 0$$

$x=1$ anomala serie?

$$y = \sum_{n=2}^{\infty} a_n (x-1)^n \quad \text{serie de potenze:}$$

$$\sum_{n=2}^{\infty} a_n \cdot n \cdot (n-1) (x-1)^{n-2} - 3x \sum_{n=2}^{\infty} a_n (x-1)^{n-1} = 0$$

Potenzreihe

$$\frac{a_3 = 0}{y_1 = y_2}$$

$$x = (x-1) + 1$$

$$\sum_{n=2}^{\infty} a_n \cdot n \cdot (n-1) (x-1)^{n-2} - 3 \left[(x-1) + 1 \right] \sum_{n=1}^{\infty} a_n \cdot n (x-1)^{n-1} = 0$$

xi i covariabile

$$f(y, y', y'') = 0$$

$$\begin{cases} y' = p \\ y'' = p \frac{dp}{dy} \end{cases}$$

$$f(y, p, p \frac{dp}{dy}) = 0$$

y bivariate
 p bivariate

xi i covariabile

$$f(x, y', y'') = 0$$

$$\begin{cases} y' = p \\ y'' = \frac{dp}{dx} \end{cases}$$

$$f(x, p, \frac{dp}{dx}) = 0$$

x bivariate
 p bivariate

$$\sum_{n=2}^{\infty} \frac{d}{dx} n(n-1)(x-1)^{n-2} - 3 \sum_{n=1}^{\infty} a_n n(x-1)^n - 3 \sum_{n=1}^{\infty} a_n n(x-1)^{n-1} = 0$$

$$\sum_{n=0}^{\infty} a_{n+2} (n+2)(n+1)(x-1)^n - 3 \sum_{n=1}^{\infty} a_n n(x-1)^n - 3 \sum_{n=0}^{\infty} a_{n+1} (n+1)(x-1)^n = 0$$

$$\underbrace{2a_2 - 3a_1}_{0} + \sum_{n=1}^{\infty} \left[a_{n+2} (n+2)(n+1) - 3a_n n - 3a_{n+1} (n+1) \right] (x-1)^n = 0$$

$$a_2 = \frac{3}{2} a_1$$

$$a_{n+2} = \frac{3a_n n(n+1) + 3na_n}{(n+1)(n+2)}$$

$n \geq 1$

$$a_3 = \frac{3a_2 \cdot 2 + 3a_1}{2 \cdot 3}$$

$$a_3 = a_2 + \frac{a_1}{2}$$

A) 3) C)

$$y'' + \frac{y'}{y} = 0 \quad y' = ?$$

$$\left. \begin{array}{l} y' = p \\ y'' = p \frac{dp}{dy} \end{array} \right\}$$

$$p \frac{dp}{dy} + \frac{p}{y} = 0$$

$$p \left(\frac{dp}{dy} + \frac{1}{y} \right) = 0$$

$$\left. \begin{array}{l} p = 0 \\ y' = 0 \\ y_2 \in \mathbb{R} \end{array} \right\}$$

$$\frac{dp}{dy} + \frac{1}{y} = 0$$

$$\int dp = - \int \frac{dy}{y} = 1$$

$$p = -\ln y + \ln C$$

$$p = \ln \frac{C}{y}$$

#

1) $y''' - 2y'' + y' - 2y$

(x)

degrees

linear ODE system?

$$13 - 25 + 5 - 2 = 0$$

$$r_1 - 2 + r_2 = 0$$

$$= (22)(27) =$$

$$\underline{u_3 = 1}$$

$$y = c_1 e^{2x} + c_2 \cos x + c_3 \sin x$$

$$y = \frac{c_1(x)}{c_2(x)} e^{2x} + \frac{c_3(x)}{c_4(x)} \cos x + \frac{c_5(x)}{c_6(x)} \sin x$$

$$a_1' e^{2x} + a_2' (\cos x + \sin x) = 0$$

$$u'_x \frac{\partial x}{\partial x} + u'_y (-\sin x) + u'_y (\cos x) = 0$$

$$g_1' \mu e^{2x} + g_2' (-\cos x) + g_3' (-\sin x) = x$$

$$0 = a_1' z_1 + a_2' z_2 + g_1' + g_2'$$

72

$$y = \sqrt{\frac{1}{g}} \ln(2gx + c_2)$$

2022

$$y' = \frac{\frac{2c}{2ax + c}}{1} = \frac{2c}{2ax + c}$$

Id. 48-48.

$$y'' = \frac{-2c_1}{(5x + c_2)^3}$$

$$-\frac{2a^2}{(ax+a)^2} + a \cdot \frac{a^2}{(ax+a)^2} = 0 \Rightarrow \underline{a \geq 2}$$

A handwritten lowercase letter 'g' in blue ink on lined paper. The letter has a circular upper loop and a vertical stem that curves into a small hook at the bottom.

#

$$y' - 2xy = 0$$

$x=0$ cir. ser. $\cos z$? (Def. 3.9)

$$y = \sum_{n=0}^{\infty} a_n x^n$$

$$\sum_{n=1}^{\infty} a_n n x^{n-1} - 2x \sum_{n=0}^{\infty} a_n x^n = 0$$

$$\sum_{n=1}^{\infty} a_n n x^{n-1} - 2 \sum_{n=0+2}^{\infty} a_n x^{n+1-2} = 0$$

$$\sum_{n=1}^{\infty} a_n n x^{n-1} - 2 \sum_{n=2}^{\infty} a_{n-2} x^{n-1} = 0$$

$$\left(\begin{matrix} a_1 \\ 0 \end{matrix} \right) + \sum_{n=2}^{\infty} \underbrace{[a_n n - 2a_{n-2}]}_0 x^{n-1} = 0$$

$$\boxed{\begin{matrix} a_1 = 0 \\ a_n = \frac{2a_{n-2}}{n} \quad n \geq 2 \end{matrix}} \quad a_2 = a_3 = 0$$

(lineare Rekursion)

$$y' = \sum_{n=0}^{\infty} a_n x^n = a_0 + a_1 x + a_2 x^2 + a_3 x^3$$

$$= a_0 + a_0 x^2 + \frac{a_0}{2} x^4 + \dots$$

$$a_3 = \frac{2a_1}{3}$$

$$a_3 = 0$$

$$a_4 = \frac{2a_2}{4} = \frac{a_2}{2} = \frac{a_0}{2}$$

$$= a_0 (1 + x^2 + x^4 + \dots)$$

$$= a_0 y_1$$

$$(A) \quad a_{n+2} = \frac{2a_n}{n+2}$$

$$a_2 = a_3$$

Wiederholung

$$\# \quad y'' - 4y' + 8y = \underline{1 - e^{2x} \sin x}$$

$$\int e^{2x} dx = \frac{1}{2} e^{2x} + C$$

$$r^2 - 4r + 8 = 0$$

$$r_{1,2} = \frac{4 \pm \sqrt{16 - 4 \cdot 8}}{2} = 2 \pm 2i \Rightarrow$$

$$y_H = e^{2x} (A \cos 2x + B \sin 2x)$$

$$f_1(x) = 1$$

$$y_{P1} = K = 1/8$$

g.D. not r.f.O

$$f_2(x) = -e^{2x} \sin x$$

$$\xrightarrow{\text{Ansatz}} y_{P2} = e^{2x} (A \cos x + B \sin x)$$

$$\text{Ansatz } y_{P2} = e^{2x} \cdot z$$

def. von $f(x) = e^{2x} \sin x$ für $- \sin x$ fast immer

$$\begin{cases} e^{2x} p_m(x) \\ e^{2x} \cos \beta x \\ y = e^{2x} \cdot z \end{cases}$$

$$-4/y' = (\cancel{2} + 2z) e^{2x}$$

$$+ y'' = (z'' + 2z' + \cancel{2z'} + 4z) e^{2x}$$

$$(z'' + 4z) e^{2x} = -2^k \sin x$$

$$z'' + 4z = -\sin x$$

$$r^2 + 4 = 0 \quad r_{1,2} = \pm 2i$$

$$f(x) = -\sin x$$

$$y_{P2} = A \cos x + B \sin x$$

g.D. r.f. ist Yok.

$$z' = -A \sin x + B \cos x$$

$$z'' = -A \cos x - B \sin x$$

+

$$3A \cos x + 3B \sin x = -\sin x$$

$$y_{00} = y_0 + y_1 + y_2$$

$$A=0 \quad B=-1/3$$

$$z_p = -\frac{1}{3} \sin x$$

$$y_p = e^{2x} \left(-\frac{1}{3} \sin x \right)$$

$$\# \quad x^3 y''' + 5x^2 y'' + 7xy' + 8y = 0$$

$$x = e^t$$

$$y' = e^{-t} D_y$$

$$y'' = e^{-2t} D(D-1)y$$

$$y''' = e^{-3t} D(D-1)(D-2)y$$

$$D = \frac{d}{dt}$$

$$Dy = \frac{dy}{dt} = y'$$

$$x = e^t$$

$$e^{-3t} D(D-1)(D-2)y + 5e^{-2t} D(D-1)y + 7e^{-t} Dy + 8y = 0$$

$$\left[\frac{D(D-1)(D-2)}{e^{-3t}} + 5D(D-1) + 7D + 8 \right] y = 0$$

$$(D^3 - 3D^2 + 2D + 5D^2 - 4D + 7D + 8)y = 0$$

$$(D^3 + 2D^2 + 4D + 8)y = 0$$

$$y'' + 2y' + 4y + 8y = 0$$

$$D \rightarrow r$$

$$r^3 + 2r^2 + 4r + 8 = 0$$

$$r^2(r+2) + 4(r+2) = 0$$

$$(r+2)(r^2+4) = 0$$

$$r = -2 \quad r_{2,3} = \pm 2i$$

$$y = c_1 e^{-2t} + c_2 \cos 2t + c_3 \sin 2t$$

$$= c_1 x^{-2} + c_2 \cos(2 \ln x) + c_3 \sin(2 \ln x)$$

$y'' + 2y' + y = e^{-x} \ln x$... bes. 4.61. $\frac{c_1(x)}{c_2(x)} \frac{1}{15st?}$
bestimmen?

#

$$r(r-1)^2(r-2) = 0$$

$$r(r^2 - 2r + 1)(r-2) = 0$$

$$r(r^3 - 2r^2 - 2r + 4r + r - 2) = 0$$

$$r^4 - 2r^3 + 3r^2 - 2r = 0$$

$$y'''' - 2y''' + 3y'' - 2y' = 0$$

$$r=0 \quad n_1, n_2 = 1 \quad n_3 = 2$$

$$y_{\text{hom}} = c_1 + [c_2 e^x + c_3 x e^x] + c_4 e^{2x}$$

D.D. bestimmen?

#

$$e^{2x}$$

$$e^{-x}$$

$$x, e^x$$

$$\cos x$$

$$r=1$$

$$r=-1$$

$$r=0$$

$$r=\pm i$$

$$(r-1)^3 (r+1) r^2 (r^2+1) = 0$$

$$(D-1)^3 (D+1) D^2 (D^2+1)y = 0$$

$$y = (c_1 + c_2 x + c_3 x^2) e^x + c_4 e^{-x} + (c_5 + c_6 x) + c_7 \cos x + c_8 \sin x$$

$$e^x, x e^x, x^2 e^x$$

$$\sin x, \cos x$$

$e^t \cos t$

$$\rightarrow \begin{pmatrix} r_1 \\ r_2 \end{pmatrix} = \begin{pmatrix} 1+i \\ 1-i \end{pmatrix} \Rightarrow$$

$$(r_1 - r_1)(r_1 - r_2) = 0$$

$$r^2 - (r_1 + r_2)r + r_1 r_2 = 0$$

$$\begin{pmatrix} 1-i \\ 1-i \end{pmatrix} \begin{pmatrix} 1+i \\ 1+i \end{pmatrix}$$

$$1-i^2$$

$$r^2 - 2r + 1 = 0 \quad \checkmark$$

$$y'' - 2y' + 2 = 0 \quad \checkmark$$

✓

Skizze lin. homog. DD

Pol. (k) $y_{\text{ent}} \leftarrow$ Part. $f(x)$

Imp. y_{ent} (General y_{ent}) $\leftarrow$ Part. $f(x)$

$y = c_1 e^{-3t} + c_2 t e^{-3t}$

$$r_{1,2} = -3$$

$$(r+3)^2 = 0$$

$y = (c_1 + c_2 x + c_3 x^2) e^{2x} + c_4 e^{-2x} + (c_5 \cos 3x + c_6 \sin 3x)$ $\Rightarrow$ DD?

$y = e^x ((c_1 + c_2 x) \cos 2x + (c_3 + c_4 x) \sin 2x)$

$$r_{42} = 1 \mp 28 - r_{34}$$

$$\left[(r-r_1)(r-r_2) \right]^2 = 0$$